Multiplicar Tres Polinomios (I)

DO

Ot

Simplifique cada expresion.

c(4c + 5% — Te) (=8¢ + )

B IS+ 22 = TH2F +4f)

3. T8 (=421 — 723 — 42%) (421 — 62° — 327)

- (6b* — 4b%)(—3b° + 9b%)(9b? + 2b)

(=3t 213 — 3tH)(3t° — 5t* + 5t%) (5% — 8% 4 8t)
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Multiplicar Tres Polinomios (I) Respuestas
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Simplifique cada expresion.

c(4c® + 5% — Te) (=8 + ¢
= —32¢” — 36¢° + 61¢" — 78

CBHGL AL 2 = TH(2f + 4f)
= 241 + 1088 + 174f7 + 605 — 222f° — 252 f*

T8 (=42t — 78 — 42 (420 — 62° — 327)
= —11221 — 28210 4 26627 + 3152° + 8427

- (6b% — 4b%)(—3b* 4 9b%)(9b* + 2b)
= —1620" + 558b% — 192" — 7280

(=3t 213 — 3tH)(3t° — 5t* + 5t%) (5% — 8% 4 8t)
= —45¢12 + 177" — 41061 + 565¢° — 5478 + 320t — 120¢°
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